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1941
1943
1945
1962
buffalo wings .
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For hints, solutions and more puzzles, go to
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Snickers Wedding Years First Names Candy Bars Appetizers
1941
Three Musketeers
1943
Twix 1945
1962

1. The person who bought the Butterfinger is not Fabian.
2. The person who ordered buffalo wings as an appetizer is Fatima.

3. The 4 people were the person who bought the Three Musketeers, the person who ordered chili fries as an appetizer,
the person married in 1962, and Jayce.

4. Of the person who bought the Snickers and the person who bought the Butterfinger, one got married in 1941 and the
other ordered fried pickles.

5. Either the person who bought the Three Musketeers or the person who bought the Twix is Jalen.

6. The person who bought the Three Musketeers got married before the person who ordered fried pickles as an
appetizer.

7. The person married in 1943 ordered onion rings.
8. The person who ordered buffalo wings as an appetizer got married after the person who bought the Butterfinger.

9. The person who ordered onion rings as an appetizer didn't buy the Twix.
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